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Term End Examination, 2021-22
Business Statistics
Compulsory/Optional
(Group-III) (Paper-I)
Time : 3 hrs. | [ Maximum Marks : 75
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Attempt all five questions. One question from each unit is compulsory. All questions carry equal
marks.
[z#1E-1 / Unit-I]
1. qiftegeh! o= st g ST | wifeent bt HiHTeT @ fe= iy |
Define statistics as a science. Discuss the limitations of statistics.
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Calculate mean, median and mode from the following data :

TR (Class-Interval) AGT (Frequency)
0-7 19
7-14 25
14-21 36
21-28 72
28-35 51
35-42 43
42-49 28
[FTE-IT / Unit- -11]
2. =1 aiepei & AT, gAY fa=el UF 3HeT 0Tk qRepfard Bifg :
Calculate mean, standard deviation and its coefficient from the following data :
AT (Age) ST
10-19 3
20-29 61
30-39 50
4049 32
50-59 20
60—69 4
AYA1r/OR
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Calculate Karl Pearson’s co-efficient of skewness from the following data :

FT (Class) AGRT (Frequency)
0-10 5
10-20 10
20-30 18
30-40 25
40-50 20
50-60 15
60-70 7
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[ZE-111 / Unit-111]
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The following table gives the distribution of students and also regular players among them according
to age groups. Is there any correlation between age and playing habit ?

Mg a9 | ferenferat =61 Hen BREIESRIEEIE
[Age (in years)] (No. of students) (Regular players)
15 250 200
16 200 150
17 150 90
18 120 48
19 100 30
20 80 12

Ag9q1r/OR

JATTT &1 GIRATST ST | 98 Hearary & fhd 9ohr f & 7 Jaiavee &t Suaifran fafaw |
Give definition of regression. How does it differ from correlation? Write its utility.

[EFE-IV / Unit-IV]
=1 o gu aifepet & (1) oo’ G (2) T1er G e (3) FhaR 9 1 U &l U fEeme qiRepfad
I |

Given the following data, calculate index number using (1) Laspeyre’s Formula (2) Paasche's formula
and (3) Fisher’s formula :

He (Items) e a9 (Base year) BlGe T (Current Year)
H™ (Price) | AT (Qunatity) | &I (Price) HET (Quantity)
A 5 50 10 56
B 3 100 4 120
C 4 60 6 60
D 11 30 14 24
E 7 40 10 36
AYIr/OR

gadih [he HEd & ? IHB! SYATRIAT TF HHrstt Sl foa=sr Hife |
What is index number ? Discuss utility and limitations of index number.

[ZFE-V / Unit-V]
AT YA % o0 gger aiferese dfaat & aofF Hifer |
Describe the statistical methods used in business forecasting.

Ag9q1r/OR

qrepfeies HEATT 1 & 30 ek 3ifehd 30 feandl | | U b Argfes &4 | fHehrell T, qant T Furan
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From 30 tickets marked with the first 30 natural numbers one is drawn at random. What is the
chance that number on it is a multiple of 3 or 5 ?

(@) ¥ IT=T & STeT i Ueh AT WL [ohd shaad STA-3TAT §IT G ?

In how many ways can the letters of the following words be arranged separately ?
(1) STATISTICS  (2) MANAGEMENT



